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When you cause the graph to shift vertically or horizontally it is know as a 
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General Case:  y = trig 
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Practice Problems 

1.  y = sin 
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2. y = - cos (
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 - 90)
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  Amp: 
 Asym: 
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3. y = 3 tan 
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4. y = 2 sin (
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 - 180) – 1 

Description of change: 




Description of change: 



Period: 
  Amp: 
 Asym: 


Period: 
  Amp: 
 Asym: 

On a separate sheet graph the following trigonometric functions in degrees (unless given in radians) 

for one full period. Fill in the change for the following values and changes.

	
	Change
	Period
	Amplitude
	Asymptote

	1. y = 2 + sin 
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	2. y = cos 
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	3. y = sin (
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 + 90O)
	
	
	
	

	4. y = - cos (
[image: image9.wmf]q

 - 90O)
	
	
	
	

	5. y = tan (
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	6. y = - cot (
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	7. y = 2 sin (2
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	8. y = -1 + tan 
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	9. y = 2 cos (
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	10. y = - 3 cos (
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	11. y = 1 + csc
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	12. y = - 1 + 2 sin 
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	13. y = sec 
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	14. y = 2 csc 
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	15. y = - 2 – cos 
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	16.  y = 1 + 
[image: image21.wmf]q

2

1

cos

2

1


	
	
	
	

	17. y = 2 + tan 
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	18. y = 3 cos 
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	19.  y = 
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	20. y = - 2 + 
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